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11. Let $@)=3x— 6

a. Determine the slope and y-intercept.
Y=mxsd

M= slope = i

-3

4
b = Y-.ntefcept = (O,~(p>

A

=
/ b. Use the slope and y-intercept to graph fhere.

d
b VX

50
/6@
y

c. Determine the average rate of change of .

$x)-5G1) V-, Ay u
Xo - %y Xp-%, ;,m... s

d. Is fincreasing, decreasing or constant?

If\cfeasmﬁt

12. Determine which of the following are one-to-one. Indicate by writing “Yes” or “No” on the graphs. State which one

isn’t a function.

4
No Ves Not o \/65
Luncelon
13. For $(x)=32x, and 5(x)=2xz—| , find :
a. (509)2)

S5 = $(s0N = $00) - 3.6 -Tig)

b. ($23)(2)
§g@) = $aera)= $(8-)- §6)z 5.5 1z
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c. (go9)(2)

30g(2) = 3(9,(9‘)1../): 3() = 2(7)" -1 =2(44) -1 = 98-

14. For f(x) = —

\\‘<3\A‘_’¥i fic ° //__.____;\,
(566)-5G- Fys 2g - mE x e U

xiN
»
[opl

Domain:

Do- s b T L
X)X#O ﬁ‘ } he compesitien, We need/ g (x) +3)#o e -

g 3, Foc the (32077 95@/&;2;)),76/),:_::5_

also L =g\ {o/, }7{'

%

15. The velocity v of a falling object is directly proportional to the time # of the fall. If after 4 seconds, the
velocity is 88 feet per second, what will the velocity be after 6 seconds?

!
= 43343 o = z
x Y %

toFe =D S F-b =y 2% bx =D XF-7 -

V=kt {'7}/; =224
88 = ¢ | v=22(0)
Ko 22 =
2 $x<) R =(oo,0) 0,55}
x+3  if-2<xgl P
16. Sketch the graph of f(x) = 5 ifx=1 . Z’\/e(\'o -2 oo>
—2x+2 ifx>1 (1)
Include all intercepts.

State the domain and
range in both interval

(-2.)
notation and set-builder notation.

L\»Q
&
ﬂ“X'A : (:,5)
2,10 'y <1) ©

- /X

~
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17. At the corner Shell station, the revenue R varies directly with the number g of gallons of gasoline sold. If
the revenue is $23.40 when the number of gallons sold is 12, find the linear function that relates revenue R to
the number of gallons g of gasoline. Then find the revenue R when the number of gallons of gasoline is 10.5.

R() =k, R(g)=1.9%g

R0) = ki =234
)o-239 Rlo-<)=1.95(10-5) = 2018
k=195

18. Let f(x) = x3. Find f~*(x), and graph both fand f ~1 on the same coordinate axes
Yy=V=x>

. yﬁé_iwmh vehadle s

W=y=5"

19. Let f(x) = %’:—F_TS. Find f~*(x) by using the switch-and-solve method. Check your answer.

check: 7('(;/(*'\5 = X

y  2x-3
/: X 4

$76) =
VAR = 2Y=S Liw )
(‘/%‘DX: 2y-3 gx 46 _ 3(x-2)
— T T x-2 X -2
= Txem X
Yy +9x =2Y- 9x43 , 4x-2)
X-2 M;<-2
Yt -2y = -9%-3
o s ¥ B
—8% =6 -3X T
y(x-2)= ~4x-3 s S €=
Y43 B EEEITE I
Vo= = Xﬂ x-2
—~ X

S5 e)

e~
N
!
X
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MAT 121-G13 Practice Test 1

1. State whether the relations below represent a function (yes/no). If not, why? State the domain and range of
each function. State whether the function is one to one, if it is, state the domain and range of the inverse.

f=1{@2-1,(=3-1,(64),(-3,-1),(1,2)}

4 C i y

IS a T(.cﬂc“ﬁfﬂ,'\)()+ l-40-1 since -] is an outut o L, R R
) 5
&= §,}/I, Z,éj

A

§
$i,3,9,¢

9

g= {(3, 1), (—2, 4), (1, 3), (2, 5)} Tsa Luncrien, 993 = g_z, h2, )3 /‘ /Kj‘, =

ITs l-40-1

74

2. Determine whether the equation y — 9 = (x — 2)? defines y as a function of x. If it does not, show/explain
why not, either by a general argument, or by finding an x-value in the domain that corresponds to more than one

y-value in the range. V_q - (x-2) 2

V= {(x ,Z>z+ 9 Isafanciion

Now try (y — 9)% = x — 2
’(}('/» 0 = (); 2

o

Y-9z 29)k=2

i N —— -

- 7 , | Yota funceios on y A
V= ‘Z[t/*ux,z Nota function Since one x -valwe witl give +wo J-values [@u"nm:/
3

3. Find the inverse function of f(x) = 2x* —7 by reversing the composition.

)
Ll sl subiiocs 5

cube vy 2
(4 3 z N
x./" )‘X hlx /N ZX3-7 _ §(></

X7 ;L 47 2 +7
(S ey ey wip TS FE sy
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4)Let f(x) = x* +5.
fx+h)—f(x
————Q . You may use the alternative version of this given by

a. Simplify the difference quotient h

F)-f(©) \ . . . .
e ° Sloh-f6d ((X““) “(> = {x*45) _ x92xhivh a8 XL
n e - -
= ’_’_:ix";-?k = -’—H(2i+h :/IZX"‘L

b. find the average rate of change of ffromx =-1tox=1.
®x <

(=56 SV =50 ees) - (ws) . 6= -

wlo
0

~

X-c =
-2

5.Let f(x) = V2x + 4 and g(x) = 4x — 2.

a. Determine each of the following functions and state domain of each.

LF+E) = Jzxm +9x-2)  Pa-R: i Need 2x4920
2x2-4 | g_¢
220 )@ flxz-} \

i (=D = J2x T - (1x-2) = D707 —uxan

P xlna-23

iil. (f - D) = (D2z39)lx-2) = Ix It - 207557

9: gxlxz‘l}

[aVaY

. f 72) 2% 449
(@)= L pyineed ixase Do 5ules i3

9%-2
Ux £ 2
% # . k

N
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eed W #o

-2 . SR D5t Need, Zx#i20 AN
V. (%](x): Dzt Pg =k, Bl Mee 2x449 70

x2-2 g2x#-1

x 72

6. Determine algebraically whether the following functions are even, odd, or neither.

x’_fx\f.‘» y_ 2
a hm=""2"" 5 h( x) = ()('(X; -~ . :1”3 =h6) even Lunction

9k g’ﬂx =5 ) (9= ORISR 1_;1;‘#3@ 8 #-96)

x’—-x ()%= (%) “XZ X

Funerien 1S nelvher odd ——

7. Determine whether each function is one to one.

i) h(x) =3x-7
Suppose hix) = h(xs) > Since h (%) =h() ulen X2, Fhe Tunerian
3%,»7: T /} IS E"‘/‘C—I'
3, = 3x, /
//‘
(=X, —
.. x—4 IX2 +x, 4= Xz -9% =4
ii) g(x)==— v : o
x+1 \
-5X, = -3 X,
9«‘)?0}6 5(*):5(*2) |
\
i Xz =X,
-9 x, |
X3 ® G

The —.(‘wnc# len 1S | -+o-/

bV A
Xo 3 1) ) v
209t -4) =l -4, 41)

Xy =
2K, =%, 4%, -4 - Xy K, + X2 =9, -4



Page 4 of 9
Rz > X):
iif) v(x) =3x> -2 ? (<)) = (%
Suppese \/(%) = V(*??? /7 ();;,;-—
3(x)*-2 = 3(x )-2
1% = )
"{y‘:)\,\.‘:v\— e "
X) =2 (>/2>2 ;\QOT =701

8. Find functions fand g so that (f e g)(x) = H, gi%flcnjt'hét H=(2x —3)%

4
W= (=)
le+ }[y);xq ond 5()‘>3 Zx-3, yhen (;Gzo(x)‘: §—(2X‘3>: (2x-3>‘+ /

9. Use the graph of the function fbelow to answer the following questions:

a. The intercepts
(Express answers as ordered pairs.)

7
ar .
C5.0) ®{4,3)
{"2,1) _{. 3 ” 5 ) P X
L ]éf‘” N i. (3 pts) x-intercept(s): (,3/ o), (3,o>/ (0,0)
) rfl\ L g x
(-4 3).,{—3,03:&—‘:}
—4r ii. (3 pts)y-intercept(s): (0,0)

b. (3 pts) The domain and range:

$=[-4,4] R=[3,3]

¢. Intervals of increase/decrease:

(3 pts) fis increasing on _[=9, -2} qnd [2,9]

i
) 2.9 .

ii. (3 pts) fis decreasing on
=L at_Z .

d. Extrema:
(3 pts) f has local minimum of

1;
at -2 .

ii. (2 pts) f has alocal maximum of )
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10. Graph each of the following functions using techniques of shifting. Compressing, and stretching, and/ or
reflecting. Start with the graph of the basic function and show all stages in separate sketches. Track 3 key points
through the transformations and show the y-intercept in the final sketch.

agx)=—x+3+5 ‘:—zj;;s_

(- )

Yot V= “Dors +5
y:S"?)E
Yornas (o, 5»7}5)

=3)ddlcszlez
c.h(x)=3|-x—2|+2

y=lx)

Yoind: v=3]c-2]12
Yagfde2 =8
(0,8) = yint




ﬁ:,;; :7;;; = mgesom

Ll =T —n —1

e. j(x)=-2(x-2)+2
J=x>

VANLE
Vs ,3_(_2)34 2
Y= 2(-8)12
Y=le+2=18
\/»wH-‘(c,lB)

ffx)=-42-x)3°-5

Y=-9( Ve - Ex)

}’V;nﬁ %
ye -i(2-97-

Y= ~LJ(3>’§
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